CPD Quiz

Spotlight on Pensions – Worked Solutions
Question 1

According to recent research, company pension schemes where in-house executives are trustees exhibit which of the following characteristics?

a) more investment in own equities

b) more investment in UK equities

c) more investment in bonds

d) no significant differences

e) don’t know

The right answer is (b) more investment in UK equities.

This is reported as evidence that in-house trustees tend to act for the benefit of shareholders rather than scheme beneficiaries.  The argument is that a higher asset allocation to equities reduces the contributions necessary from the company – advantageous for shareholders.  Scheme beneficiaries are said to prefer investment in safer assets.

Financial Times Feb 22nd “Insider pension trustees help shareholders”

"The Corporate Governance of Defined-Benefit Pension Plans: Evidence from the UK", by Joao Cocco and Paolo Volpin of the London Business School. Published by the Centre for Economic and Policy Research

Question 2

Upon your appointment as Treasurer of a medium sized group listed in the UK you have been expected to join the Board of Trustees of the Group Pension Scheme.  This is not expected to be a particularly onerous responsibility compared with the task, as Treasurer, of managing a new issue of debt which you have just begun to plan.  The key issue in your planning is the likely credit rating to be awarded to the issue.  In the past similar issues have been rated at BBB+ but you are hopeful that this issue might improve on that given better financial performance over recent years.

At your first meeting of the Board of Trustees you are made aware that the pension liabilities are not fully funded and your view is sought regarding the appropriate course of action.

Which of the following possibilities should best reflect both your response and your reasoning?

(a) resign, recommending that an independent pensions advisor be appointed to remedy the situation.

(b) recommend that the underfunding may be temporary and that the situation will improve as equity markets improve.  No immediate action is required.

(c) recommend that the underfunding be addressed by the group making additional contributions.  Any impact on the credit rating will just have to be accepted.

(d) resign your trusteeship having drawn attention to the inherent conflict of being both treasurer and trustee and then seek independent actuarial advice regarding the underfunding.

(e) don’t know

The right answer is (d) resign your trusteeship having drawn attention to the inherent conflict of being both treasurer and trustee and then seek independent actuarial advice regarding the underfunding.

The problem of conflicts of interest in pension scheme trustees is addressed in pensions legislation.  A trustee cannot act where his duties to the trust conflict with other duties.  To do so incurs the risk that any decision taken be set aside.

The Treasurer May 04 “Coping with Conflict” pp 27 – 29 

 Click HERE

http://www.treasurers.org/thetreasurer/resources/2004/05/May04TTBennett27-29.pdf
Question 3

As trustee of XYZ Group Pension Fund you are concerned to ensure that the fund’s pension liabilities are fully funded at all times.  You are also aware that, in terms of investment performance, equities have outperformed bonds in most one year periods and in almost all periods where the time periods are over 5 years.

If your primary concern is to ensure full funding at all times, which of the following investment choices should you make?

(a) invest primarily in UK equities

(b) invest primarily in long term sterling bonds

(c) invest 50% in UK equities and 50% in emerging market equities

(d) invest in short term financial instruments

(e) don’t know

The right answer is (b) invest primarily in long term sterling bonds.

Pension liabilities behave like bonds, being dependent on current interest rates used as discount rates.  Therefore in order to ensure that the pension liabilities are always in line with their funding, a financial instrument is required with the same characteristics – a bond.

Marks and Spencer, WHSmith and BP have followed the same logic by issuing a bond in order to fund their pension deficits and invest in bonds.  Another advantage in this is that interest paid on the issue is tax deductible but the benefit of the purchased bonds are in the pension fund.

The Treasurer Jan/Feb 05 “The Perfect Match” John Shuttleworth pp23 – 25

The Treasurer June 04 Spring Paper “ Answering Age Old Questions” Adair Turner pp15 -18
Question 4

Modifications were announced to IAS 19 in December 04.  Under the modified standard actuarial gains or losses of a company pension scheme may be accorded which of the following accounting treatments?

a) required to go through the Income Statement

b) required to be recognised in the Statement of Total Recognised Gains and Losses

c) optional - either direct to reserves or recognised in the Statement of Total Recognised Gains and Losses

d) optional – either through the Income Statement or the Statement of Total Recognised Gains and Losses

e) don’t know

The right answer is (d)   optional – either through the Income Statement or the Statement of Total Recognised Gains and Losses

Initially the standard required gains and losses to go through the Income Statement but gave latitude over the number of years that a shortfall could be spread.  The modification announced in Dec 04 removed the conflict with FRS17 so that companies choosing to put gains and losses through the STRGL could satisfy both standards.

The ASB website:  http://www.asb.org.uk/asb/press/pub0667.html
The IASB website: http://www.iasb.org/news/index.asp?showPageContent=no&xml=10_267_25_16122004_15122005.htm
KPMG IFRS Update:  http://www.kpmg.co.uk/services/a/ifrs/index.cfm#
Question 5

The Myners Review of 2000 made recommendations regarding the minimum level of knowledge to be expected from trustees.  These recommendations were incorporated into the Pensions Act 2004 by introducing statutory obligations on individual and corporate trustees in relation to both the specific documents of the scheme (i.e. trust deed, statement of investment principles and statement of funding principles) and the more general matters (i.e. law relating to pensions, principles of scheme funding and investment).

Which of the following possible answers best reflects these obligations of trustees?

(a) required to be conversant with the specific documents and have a knowledge and understanding of the more general matters

(b) required to be conversant with the specific documents and awareness of the more general matters

(c) required to have awareness of the specific documents and have a knowledge and understanding of the more general matters

(d) required to have a knowledge and understanding of the specific documents only

(e) don’t know

The right answer is (a) required to be conversant with the specific documents and have a knowledge and understanding of the more general matters

The Pensions Regulator is to issue guidance on the degree of knowledge and training necessary to fulfil these requirements.  Ultimately, though, the real test is whether the trustee is able to exercise his duties effectively.

Hammonds website: http://www.hammonds.com/FileServer.aspx?oID=21495
HMSO: http://www.legislation.hmso.gov.uk/acts/acts2004/20040035.htm
Question 6

In managing a pension scheme’s bond asset portfolio it is usual to compare portfolio performance and variability with a benchmark index.  One commonly used index is the FTSE UK Gilts All Stocks Index.  Most pension fund liabilities have a duration of between 15 and 21 years. 

What is the duration of the FTSE UK Gilts All Stock Index?

(a) 8 years

(b) 10 years

(c) 14 years

(d) 16 years

(e) don’t know

The right answer is (a) 8 years

In fact on Feb 24th it was 8.05 years. This is a clear issue of concern when trying to manage the risk associated with asset and liability valuation variations as the financial environment changes.  In extremis the mismatch between durations can result in significant unexpected levels of volatility.

The Treasurer, “Steering Clear of the Pensions Black Hole” Dec 04 p7

FT.com for duration of indices Feb 24th 2005: http://specials.ft.com/stats/pdfs/ftsegovsecs/FTSEG240205.pdf
